1. Tpuronomerpuveckue npeodpasoBaHms.

sing . 1 _Cosa. g,

sina+cos?a=1; tga = ; 1+ tg%a =—=—; ciga 1
cosa cos? o

ctga = :
g sin? o

sin(a+ B) =sinacos St cosasin f; cos(a+ ) =cosacos SFsinasin S ;

— 20. q_ —9ein2 &. g0 _1-Cosa.
1+ cosa = 2cos > 1-cosa =2sin > tg2 sing
2., _1 cqin2 .y —L(1_ . tn2,, — 1=C0S2c .
cos a—2(1+cosza), sin?a 2(1 cos2a); tg’a T cosog
(24 _tg2 & o _tn2
_ _2tgz_ _1 tgz' _2tg2_ _1 tgz_
sma_—a, c03a_—a, tg — ctga_—a ;
20 20 _tn2 & «©w
1+1tg > 1+1tg 2 1-tg 5 2tg2
sinaisinﬂ=23ina§ﬂcosa§ﬂ;cosa+cosﬂ=2cosa;ﬂcosa£ﬂ;
cosa—cos,B:—Zsina;'Bsina;ﬁ;
sina £ cos sma_sm(2+ﬂ) ZSII‘I( 5 _4]005( > Fa )

sin acosﬁ:%(sin( +B)+sin(a-p)); cosacosﬁ:%(cos(a+ﬁ)+cos(a—ﬂ));

sinasinﬁ:%(cos(a—ﬂ)—cos(a+ﬂ)).

R

2. AcumnroTuyeckue (popmyJibl

sint=t+o(t’), t—0; cost=1-1t’ +o(t’), t—0;
tgt =t+o(t>), t—0; arctgt =t+o(t?), t—0;
arcsint=t+o(t?), t—0;

a' =1+tlna+o(t), t—0;

log,1+t) =5t+o(t), t—0;

@Q+t)* =1+at+o(t), t—0.



